Choose the correct option.

The word ‘attractive’ in paragraph 1 is closest in meaning to:

a) beautiful b) boring ¢) unusual

The word ‘they’ in paragraph 2 refers to:

a) consumers b) driverless cars ¢) manufacturers
The word ‘one’ in paragraph 3 refers to:

a) vehicles b) benefits c) driverless cars
The word ‘conserve’ in paragraph 3 is closest in meaning to:

a) save b) continue c) resist

Complete the sentences according to the text.

a) The reason why the driverless cars are attractive to many people is

d) inactive

d) vehicles

d) a computer driver

d) deliver

b) By the year 2040

¢) The advantages of driverless cars are




